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General Instructions :

(V)
(ii)

(i11)

(iv)

(v)
(vi)

(vit)

All questions are compulsory.

Questions number 1 to 5 are very. short answer questions and carry
1 mark each.

Questions number 6 to 10 are short answer questions and carry 2 marks
each.

Questions number 11 to 22 are also short answer questions and carry
3 marks each.

Question number 23 is a value based question and carry 4 marks.

Questions number 24 to 26 are long answer questions and carry 5 marks
each.

Use log tables, if necessary. Use of calculators is not allowed.
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1. T=fafed 3m N :
CH; - CH, - CH, - Br 3R CH;- CH - CH,

|
Br

Which would undergo Sy1 reaction faster in the following pair :

CH; - CH,- CH, - Br and CHz- CH - CH,
|

Br
2.  THZ % fhIR W Tl 78 1 I WAdT 8 T Soel &4 91l g | =i ? 1
A delta is formed at the meeting point of sea water and river water.

Why ?
3. UH Affes w1 T 71 2 NEH Y T cep e oA 7 R X % G
Tqsherehd TRkl <1 2/3 9T od 8 2 1

What is the formula of a compound in which the element Y forms ccp

lattice and atoms of X occupy 2/314 of tetrahedral voids ?

4 oW R A seEiE 5 g e | ;
Write the formulae of any two oxoacids of sulphur.
5.  feu wu Aifies @1 omg .y o . 9w fafae 1

CH, - CH - CH, - O~ CH, — CH,
I
CH,

Write the IUPAC name of the given compound :

CH3—(|3H—CH2—O - CH, - CH,
CHj4

6. (i) TIX3IMNgd Y A" W ured oo™ 1 A= 7 g Sl & | It
e e o frg e I o cfdT 8 2 29 X 3R ga Y&
e W auHE ° 319 = 9igdd eEd § 2
(i) oI BT 8 ST g9 Wb ISR ol I (Feq WEr fae= ) o wEd g 2
R T | 2
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1) On mixing liqui and liquid Y, volume of the resulting solution

decreases. What type of deviation from Raoult’s law is shown by
the resulting solution ? What change in temperature would you
observe after mixing liquids X and Y ?

(ii) What happens when we place the blood cell in water (hypotonic
solution) ? Give reason.

7. 9 CuSO, % foe= & ¥ 2 A i fogq 9 yaTfed i A 2, ql g W
1-27 g I T B T Sl 0T 1T 2, ITehT JHehar I |
(Cu T HIeR Ze9HH = 63-5 g mol~1, 1 F = 96500 C mol~1)

Calculate the time to deposit 1-27 g of copper at cathode when a current
of 2 A was passed through the solution of CuSO,.

(Molar mass of Cu = 63-5 gmol™1, 1F = 96500 C mol 1)
8. RISl 3R UFeAiuel o WRH % s U TUHdr 31 U 3T foafiaw |

Write one similarity and one difference between the chemistry of
lanthanoids and that of actinoids.

9. TfafRaa srfufshaneti # ST S1fWehReh TTawah &, 3o [AIIET :
@  CH,=CH-CH,0H —> CH, = CH - CHO
(i) CHg- COOH —’— CH, - CONH;

HAAT

frefafiga Aifent 1 3 MR UEH % 9¢d gY A % LN W Fadd
I

(i)  CH3COCHj, C¢H;COCH,, CH4CHO
(TR Heha ATNTshaT o Ufa rfrfspamsiietar)
(ii) Cl-CH,-COOH, F - CH, - COOH, CH; - COOH (3713 s¥eER)

Write the reagents required in the following reactions :
(1) CH, = CH - CH,0OH 2, CH, = CH - CHO

(i) CHs- COOH —— CH4 - CONH,
OR
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10.

11.

12.
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Arrange the following compounds in increasing order of their property as

indicated :
1) CH3COCH3, CcH;COCH,, CH3CHO
(reactivity towards nucleophilic addition reaction)

(ii)) Cl-CH,-COOH, F - CH, - COOH, CHg - COOH (acidic character)

(i) TfaRaa s @1 g3 d.u . 9 foafex -

[Co(NH,)sCl12+
(i) Ffiea S =1 3 fafe

qrefrm 2eraetrseHeRaie(1D) 2
1) Write down the IUPAC name of the following complex :

[Co(NHg)5ClI2+

(i1))  Write the formula for the following complex :

Potassium tetrachloridonickelate(1I1)

MNfder-Myw 3R TEREHS-NY & = ®is d9 FAq fakay | 3

Write any three differences between Physisorption and Chemisorption.

famfafaa < fou s s 3
()  HATA I YU $HTA Afeeh T 7 |

(i) Ucehlgiall § C— O — H 3Ta¢ v IqSherehid v (109°28") hi TUeT
RIET R

(ili) (CHg)3C—-0-—CHg, HI % @y AN &4 W (CHg)3C -1 3R
CH3 — OH T&J 3c91¢ & &9 H ¢ & 9 76 (CH3)3C — OH 3R CHj3 - L.

Give reasons for the following :

(1) Phenol is more acidic than methanol.

(ii)) The C—-O-H bond angle in alcohols is slightly less than the
tetrahedral angle (109°28’).

(iii) (CHj3)3C — O - CHj3 on reaction with HI gives (CH3)3C -1 and
CH3-OH as the main products and not (CHj3)3C - OH and
CH;-1.
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13. 200 g T H AT Tt b1 10 g HleToht Ueh faeia &= ST 8 | 308 K

W 3G 919 W 31-84 mm Hg 2 | faaa &1 Ao gequ™ ufisfaa i |

(g ST hT 308 KW a9 g = 32 mm Hg)

A solution is prepared by dissolving 10 g of non-volatile solute in 200 g
of water. It has a vapour pressure of 31-:84 mm Hg at 308 K. Calculate
the molar mass of the solute.

(Vapour pressure of pure water at 308 K = 32 mm Hg)

14. (1) A Ygal arct T&fetehia 1 I S o fore St gt 1 fafa @ o
AT ], 3HhT 1 forRay |
(i) IR % RN § Si0, h1 T YEeHT Bl @ ?
(iii) ST T WshH H YT <l FT YfHehT BT 8 ?
1) Name the method of refining to obtain silicon of high purity.

(il) ~ What is the role of SiO, in the extraction of copper ?

(iii) What is the role of depressants in froth floatation process ?

15. () Tm=fafea § @ oF-ar t aiciesss 2
W, Hedd, %ae™, |
(i) UEH % o-gfcted 3T p-wefiee e @xaame & ot o fafe |
(i) foeTim By, o1 &l & 8 areit st &1 am faRaw |
) Which one of the following is a polysaccharide :
starch, maltose, fructose, glucose

(ii1) Write one difference between o-helix and p-pleated sheet
structures of protein.

(iii) Write the name of the disease caused by the deficiency of vitamin B,.

16. 25 x 1074 M AAIEsh 3T hl ITAhdl 525 x 10° S em~1 8 | 3HHI HITR
ITAhdT 3 fo—S-AmE 1 uftesfora i |

fear w2 A0HY) = 349-5 S em?2 mol1 3 A9(HCOO0) = 50-5 S em2 mol 1.

Conductivity of 2-5 x 10~ M methanoic acid is 525 x 107® S cm™1.

Calculate its molar conductivity and degree of dissociation.
Given : A\O(H*) = 349-5 S cm? mol~! and A°(HCOO") = 50-5 S cm? mol 1.
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7. © e %ﬂgr ?25-§6%g§stlo%BankSgttware o it 2

(i) AQ A, > P B @ Fheea &7 fagra & oMmum W 44 smA & fau
goreRe ek fa=amg forflau |

(ili)  [CoFgl3~ o1 3R IR I&eh! Hehyl Iraee faaflay |

(Co 1 WHTY] 3HHTH = 27) 3
1) What type of isomerism is shown by the complex [Cr(Hy0)g]Clg ?

(ii)) On the basis of crystal field theory, write the electronic
configuration for d4 ion if A, > P.

(iii))  Write the hybridization and shape of [CoF] 3-,
(Atomic number of Co = 27)

18. TAfaRaa wqmawor S fohu 1 Tehd & 3
(i) Ve @ SHeE §
(i)  FARISSE Bl 2-FARUEHRIBAN H
(i) FARICAT Sl e H
HAAT
RGNS
(1)  wANE=A Bl Cly/FeCly o ®19 Iu=G feharl STl &,
(i) T FANEE . AgNO, < &1 9= foham ST 2,
(iii) 2-SHUST =l Ucehlaicl! KOH o d1 U= fohaT STTaT 8 ?

9 IT & 9T H THH THieRN ol faafiay | 3

How can the following conversions be carried out :
1) Aniline to bromobenzene
(i)  Chlorobenzene to 2-chloroacetophenone

(111) Chloroethane to butane

OR

56/3/RU QB365-Questionr Bank Software P.T.O.




QB365-Question Bank Software
What happens when 7

1) chlorobenzene is treated with Clz/ FeCls,
(ii))  ethyl chloride is treated with AgNO,,

(iii)  2-bromopentane is treated with alcoholic KOH ?

Write the chemical equations in support of your answer.

19. (a) THAfREd # HRET <d gL e FHINT
(i) Cut* e fae=e o s 7 |
(i) ESHHYT GTqU HiTeidd i ST 7 |
(b) TrfeRaa TRt 1 qof i
Cr,0> +8H* +3NO, —
(a)  Account for the following :

(i)  Cu? is unstable in an aqueous solution.

(ii) Transition metals form complex compounds.

(b)  Complete the following equation :
Cr,07 +8H*+3NO, —

20. T=faRad Sghl % Thaehl & W R TS 1 fAfE
@ el
Gi) S-S
(i) e

Write the names and structures of the monomers of the following
polymers :

(1) Terylene
(i1) Buna-S

(iii) Neoprene
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21. ffaRaa sifufsraren o 3cdtel 1 ITfh shiferg 3
0 CH3_(|3 o H,N-NH, ,
CH,
(i) CqH,—CH, () KMnO, / KOH ,
(b) H*
COOH
Gib) @( Br,/ FeBr, 9
Predict the products of the following reactions :
i) CHy—C=0  HN-NH, ,
CH,
(i) C4H,—CH, (a) KMnO,/ KOH 9
(b) H*
COOH
Gib) Br,/ FeBr, 9
22, feu mu Srget fpeea 1 wheror Hifsr -
Xt Y- Xt Yy Xxt
Y- O Y Xt Y
Xt Yy~ Xt 0 Xt
Y- Xt Y Xt Y
frfafaa gt o 3w T 3
@) IE AN EERTRE () 8 W s
(eT-ETglRaiige) |
(i) 39 YR % QN &l fhE 9g @ forad & 2 ws Aifires o1 3grewor difse s
39 YehT T S T 2 |
(i) 39 YRR % A9 ¥ T3rEeet & Odca 9 o1 9919 gl 8 2
56/3/RU QB365-Questiom Bank Software P.T.O.
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Examine the giveén defective crystal :

XYy Xty xt
Y- O Y X' Y-
X*y Xt O Xt
Y- Xt Y Xt Y™

Answer the following questions :
(1) Is the above defect stoichiometric or non-stoichiometric ?

(i1))  Write the term used for this type of defect. Give an example of the
compound which shows this type of defect.

(iii) How does this defect affect the density of the crystal ?

23. aH S= H UyHg R Tadrg (3g) H Sedl HEAT B @R, Th UG
el o TIR9d St =S A Ueh HHAR 1 RIS fohan e o1 fifaat 3K
=l o HIA-YArsTl i AWEG a1 | 78 foi forn e o6 wpai § €3 3¢
@M 61 T 95 1 AU 3TN EEYsh aequ o8 {9, A, g4, 3¢ ey
H0E N | I8 78 ot Fofe fo=n fob wpatl & O Wit shi TETeedt % THe
AT B T T I AR AR AT §4 § HAAT AT | B: ARG 6
uvaTd, ot FUel 4 AfUeat Thal H TR Treew gleu U R =
ey | TUH gUT IR TR |

ITYh Taatur sl ygeht FHffad SeAl o ST G
(i) off F9ST gR fohd AT (FH-H-HA Q) I YGRIa R T 2

(i) U foeneff & w9 4, 39 3@ vy § U IrTERaT Hemd ?

(i)  forT Sferex Y T & Ufd-srades (TR-Sifte<) =i 78 o =i ?
(iv) M AYHR gt & T IS GRT |

56/3/RU QB365-QuestiomoBank Software
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Seeing the growing cases of diabetes and depression among young
children, Mr. Chopra, the principal of one reputed school organized a
seminar in which he invited parents and principals. They all resolved
this issue by strictly banning junk food in schools and introducing
healthy snacks and drinks like soup, lassi, milk, etc. in school canteens.
They also decided to make compulsory half an hour of daily physical
activities for the students in the morning assembly. After six months,
Mr. Chopra conducted the health survey in most of the schools and
discovered a tremendous improvement in the health of the students.

After reading the above passage, answer the following questions :
1) What are the values (at least two) displayed by Mr. Chopra ?
(i1)  As a student, how can you spread awareness about this issue ?

(iii) Why should antidepressant drugs not be taken without consulting
a doctor ?

(iv)  Give two examples of artificial sweeteners.

24. IO faeeE § v UHICE o J-3T9eed § MH{Rad g ITH U 5
t/s 0 10 20
[CH;COOCH;]/mol L1 0-10 0-05 0-025
(a) A I W5l R T@d §U YGRid hie foh 98 T ogH (VS!) Jod
Sife 6T AMUMHAT 7 |

(b)  TEATAUSA 10 T 20 FHUS o sio A(ITHAT shl INHA e IRehicdd hifT |
(fem =1 2 : log 2 = 0-3010, log 4 = 0-6021)
A

(a) U AR A+B — P fore, e & ot B
W =k [A] [B]?

() Al BT @igar g & S, 1 AR h G hH Tl
Bl 7 2

(i) 9l A Tfees 7mn | g1 a1 Affsham <t o g =1 gt 2

(b) T YoM wife hit AUl 50% i B4 § 30 fire wieft & | 59 stfufshan
HT 90% U B T S THY T 8, IHhT Uehar hifT, | 5
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For the hydrolysis of methyl acetate in aqueotis solution, the following
results were obtained :

(a)

(b)

(a)

(b)

25. (a)

(b)

56/3/RU

t/s 0 10 20

[CH;COOCH; ]/mol L1 0-10 0-05 0-025

Show that it follows pseudo first order reaction, as the
concentration of water remains constant.

Calculate the average rate of reaction between the time interval 10
to 20 seconds.

(Given : log 2 = 0-3010, log 4 = 0-6021)

OR
For a reaction A + B —» P, the rateis given by

Rate = k [A][B]2

(1) How is the rate of reaction affected if the concentration of B
is doubled ?

(ii)) What is the overall order of reaction if A is present in large
excess ?

A first order reaction takes 30 minutes for 50% completion.
Calculate the time required for 90% completion of this reaction.

feferfigd = forg o <d gu waw i

(i) HF 4 HId% 7 Fa8r 9edl & |

(i)  SATHRHISH W HeHL 6 S TR IR FIAHhI § 95 ST IR
2

(il)  TEIINH YreTRTsS el ST 2§ |

fFrafafga <6 g=Ae smfga Fiflse -
(i) ClF,
(i) XeF,

ST
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(i)
(i1)
(iii)

(iv)

(v)

(a)

(b)

(ii)

(ii1)

(iv)

(v)

56/3/RU

. B §5- uesti. n twake w7 2

GaEHIeh S A IS Tag i T H ohdl IAERN § ?
Fo &1 3Tery foeed wdedt Cl, st o7ue &0 3 | & 2

Hrew fage < gdeon & fou e § - 3che f| s Sw foR
1 B 2

frrfifad e ot i -
XeF, + PP — 5

Account for the following :
(1)  Acidic character increases from HF to HI.

(i1) There is a large difference between the melting and boiling
points of oxygen and sulphur.

(iii) Nitrogen does not form pentahalide.

Draw the structures of the following :

i) CIFy

(i) XeF,
OR

Which allotrope of phosphorus is reactive and why ?

How are the supersonic jet aeroplanes responsible for the depletion
of ozone layer ?

Fy has lower bond dissociation enthalpy than Cl,. Why ?

Which noble gas is used in filling balloons for meteorological
observations ?

Complete the following equation :

XeF2 + PF5 _—>

QB365-QuestiomBank Software P.T.O.
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26. 30 I C;HgOy T Teh UUHICH Alfieh ‘A’ el QRITT STIHR Teh IATHIRAT

goft & It 3 | Ftariaa afyfshaneti § A, B, C, D 3 EH g=A fafge : 5
NH, / S Br, + NaOH (CH4C0),0
(C;H0,) A ——— C,H,CONH, B C
LiAlH, / 321 Bry(aq)
D E
YT
(a) 9 959 SEUHIHIH FANES THIRgd 3TehRehl o @1 iR
AT 7 Al ITH G 3TN ohl FTEHE fAfg
(i)  HsPO, + H,0
(11)) CuCN/KCN
(iti) H,0
(b) Sl faeiE H I WQd BY AN HAER % %A H =fafed
I Eﬁﬁl’f{ :
CoHNH,, (CoH),NH, (CoHz)sN
(c) Tmfcifaa Afepi & 9 § T S o T T AW TEEHS S
dife
CgHs — NH,, 3t CzH; - NH - CH,4 5

56/3/RU QB365-QuestiomsBank Software
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An aromatic compound ‘A’ of molecular formula C,Hg;O, undergoes a
series of reactions as shown below. Write the structures of A, B, C, D and
E in the following reactions :

NH,/ heat Br, + NaOH (CH4C0),0
(C,H0,) A ——— > C,H,CONH, B

LiAlH, / ether Bry(aq)

D E

OR

(a)  Write the structures of main products when benzene diazonium
chloride reacts with the following reagents :

(i) HgPO,+ Hy0
(i) CuCN/KCN
(i) Hy0

(b)  Arrange the following in the increasing order of their basic
character in an aqueous solution :

CoHsNH,, (CoHs),NH, (CoHz)sN

(c) Give a simple chemical test to distinguish between the following
pair of compounds :

CgHs - NH, and CgH; - NH - CH,

56/3/RU 0B365-QuestiomsBank Software
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CHEMISTRY MARKING SCHEME

2015
56/3/RU
. NO. Value points MARKS
Q.1 | CH3-CH(Br)-CHs 1
Q.2 Due to coagulation of colloidal clay particles 1
Q.3 X4Y3 1
Q.4 | Hy;SO3 H,S04H,S,05 ,H,SOs (any two formulae) % +%
Q.5 | 1-ethoxy-2-methylpropane 1
Q.6 | (i) Negative deviation ,temperature will increase. Y +%5
(ii) Blood cell will swell due to osmosis , water enters into the cell. YtV
Q.7
Cu”™ + 2¢ > cCu
63.5 g Cu is deposited =2x96500 C
1.27 g Cuis deposited = 2x96500x1.27/63.5 C = ixt(Q = ixt) 1
t = 2x96500x1.27/63.5 x 2 =1930s 1
Or
by Faraday First law
m =2zxixt %
z = atomic mass/valencyxF
1.27 = 63.5x2xt/2x96500 Y
t=1930s 1
Q.8 | Similarity : Both show contraction in size /Both show irregularity in their electronic 1
configuration/Both are stable in +3oxidation state (any one)
Difference :Actinoids are mainly radioactive but lanthanoids are not/ Actinoids show wide range 1
of oxidation states but lanthanoids do not /Actinoid contraction is greater than lanthanoid
contraction. ( any other one similarity and one difference)
Q.9 (i) PCC/Cuat573K 1
(ii) NHs, A (heat) 1
OR
Q9. (i) CeHsCOCH3< CH3COCHs< CH3CHO 1
(i) CH3COOH<CI-CH,-COOH < F-CH,-COOH 1
Q.10 | (i) Pentaamminechloridocobalt(lll) ion 1
(i) K3[NiClg] 1
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Q.11 | Physisorption : adsorbate is held by weak van der Waals’ force 1,1,1
non-specific
It forms multimolecular layer
Chemisorption : adsorbate molecules are held by strong forces like a chemical bond
It is specific
It forms unimolecular layer
(or any correct three points)
Q.12 | (i) Phenoxide ion is stabilized by resonance as compared to CH30/ In phenol, oxygen acquires 1
+ve charge due to resonance and releases H* ion easily whereas there is no resonance in
methanol.
(ii) Due to lone pair- lone pair repulsion on oxygen. 1
(iii) (CH3)sC"is 3° carbo-cation which is more stable than CHs*for Syl reaction. 1
Q.13 po— p= wsxMsolvent , s =solute 1
p’ M; x Wsolvent
(32-31.84)/32 =10x 18/ Ms x 200 1
M; =180 g/mol 1
Q.14 | (i) Zone refining 1
(ii) SiO, act as flux to remove the impurity of Iron oxide 1
(iii) Depressants prevent one type of sulphide ore forming the froth 1
with air bubble.
Q.15 | (i) Starch. 1
(ii) a- Helix polypeptide chains are stabilized by intramolecular H-bondingwhereas (- pleated
sheet is stabilized by intermolecular H-bonding. (or any other difference) 1
(iii) Pernicious anaemia 1
Q.16 | A, =222%% oem?mol? Y
M
_ 1000 x5.25 x107° 2 1
Am = 52105 Scm“mol
1
= 210Scm’mol™
Am) HCOOH =A°HCOO™ + A°H'
(50.5 +349.5) S cm’mol™ = 4005 cm’mol™ b
a = /\m/ /\mo
1

a =210/400 = 0.525
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Q.17 | (i) Hydration isomerism 1
(i) Electronic configuration ist2g4/ by diagram 1
(iii) Hybridization is sp°d® and shape is octahedral. %+
Q.18 | (i)
NH, NaNO, + HX N&
273278 K 1
Benzene diazonium
halide
(where X=Br)
(ii)
Cl Cl
Anhyd. AIC] H 1
+ H,C-G gy Anbyd. AICL CH,
III)CH3CH2C| 9CH3CH2CH2CH3
1
OR
aig | ()
Cl ' Cl
o, Ao U] 1
AR, . Cl Anhyd. FeCl, N . Y
\f{f‘ : x"‘\\"-:';? \5’;!
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(ii) 1
CH3CH,Cl  + AgNO,; - CH3CH,; NO, + AgCl
(iii) CH3CH,CH,CH(Br)CH; + KOH (alc.) > CH3CH,CH=CHCH; 1
Q.19 | (a)
(i) Because Cu® undergoes disproportionation as 2Cu* = Cu + Cu* 1
(ii) Because of small size of metal, high ionic charge and availability of vacant d —orbital. 1
(b) Cr,0,% + 8H' + 3NO, = 2Cr** + 3NO5  + 4H,0 (Balanced equation only) 1
Q.20 | (i) ethylene glycol HO-CH,-CH,-OH Y +%
HDDC.‘—< >— COOH
Terephthalic acid
(ii) 1,3- butadiene CH,=CH-CH=CH,
CH = CH, %o+ %
Styrene
(iii) Chloroprene CH,=C(Cl)-CH=CH, Yy %
(Note: Half mark for name/s and half mark for structure/s in .each case) 2,72
Q.21 o 1+1+1
COOH
(jﬂﬂﬂﬂ
) o Br
i) (CH3),C= N-NH, ii) / benzoic acid iii)
/ m-bromobenzoic acid
Q.22 | (i) Stoichiometric defect 1
(ii) Schottky defect e.g.NaCl (or any other example) B+
(iii) Density of crystal decreases 1
Q.23 | (i) Social awareness ,Health conscious, Caring , empathy, concern .(or any other two values) Y, ¥
(i) Cartoon display / street display/poster making (or any other correct answer) 1
(iii) Wrong choice and over dose may be harmful. 1
(iv) Saccharin , Aspartame (or any other example) Y+ %
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Q.24

Q24.

(a) [Alo =0.10 mol/L [A] =0.05 mol/L attimet=10s

k=2.303 log[ Ap]

t [A]

k=2.303 log0.10

10's 0.05
k =0.0693 s™

t =20s

k=2.303 log[ Aol
t [A]

k =2.303 log0.10
20's 0.025
k =0.0693 s™

As the rate constant is same so it follows pseudo first order reaction.

(b) Average rate of reaction = - A[R]/ At
=-[0.025-0.05/20 - 10]
= 0.0025 mol L's™

OR
(a)

(i) Rate of reaction becomes 4 times
(ii) Over all order of reaction =2

(b) t1/2= 0.693
k

30min =0.693
k
k = 0.0231min™
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k=2.303 log[Ao]

t [A]

t= 2.303log 100

0.0231 10 1%
t= 2.303min
0.0231
t =99.7min 1
Q.25 | (a) (i) Due to decrease in bond dissociation enthalpy from HF to HI, there is an increase in acidic 1
character observed. 1
(ii)Oxygen exists as diatomic O, molecule while sulphur as polyatomic Sg
(iii)Due to non- availability of d orbitals 1
(b)
F
—cl o P —=—=5F
E 4 >
: \ T i 1+1
¢
F L
i) i) .
OR
Q25.
(i) White Phosphorus, because it is less stable due to angular strain
(ii)Nitrogen oxides emitted by supersonic jet planes are responsible for depletion of ozone layer. Vo, Y
Or NO+O3; —> NOy+ 0O, 1
(iii)due to small size of F, large inter electronic repulsion / electron- electron repulsion among the
lone pairs of fluorine 1
(iv)Helium 1
(v) XeF, + PFs > [XeF]" [PFe] 1
Q.26
1x5
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Q26.

NH,

@,comn
A= B=
O/.\NHZ

o O

(b) CoHsNH,<(CyHs)sN < (CoHs),NH

not ( or any other correct test)

C.H,— r|q — C— CH,
Il

C= H O
NH,
Br Br
E= Br

OR

OH

iii)

(c) Add CHCIl;5 and alc KOH , CgHs-NH, gives foul smell of isocynaide whereas CgHs-NH-CH3 does

1,11
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